Latihan : Operasi Aritmatika

Hitunglah hasil operasi dibawah ini :
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X = 20*3-4*50+70+35
X = 20*3-4*50+(70+35)
X = 20*3-4*(50+70)+35
X = 20%(3-4)*50+70+35
X = 50/5+45-20/10

X = 50/5+45-(20/10)

x = 50/(5+45)-20/10

x = 30%4*10/5/2*30%6

Apakah hasil operasi dibawah ini true / false ?

CoNoO~WNE

5 ==

34>=10

34 >=34

34 >34

51=5

45 1=54

34 —34 ==45 - 45
44+10 >=56-10
23*10-10 < 45/5*9

.12==1334 <43

.45 1= 45 && 45 == 45

.35 ==135&& 40 <= 40 || 50 < 35
13.
14.
15.

23>10]|35<23&&55<=45]|34>23
(23>10]| 35<23) && (55 <=45 || 34 > 23)
(30+40<90-30]| 45==45) && 23> 10



